## Friday, January 11, 2019

- Warm-up
- Factor the following trinomials:

$$
\begin{gathered}
x^{2}+2 x+1 \xrightarrow[-1,-1]{\rightarrow} \xrightarrow{+1,1} \\
(x+1)(x+1) \\
(x+1)^{2}
\end{gathered}
$$



- Using the factors to solve...


## Objectives:

Content: I will factor trinomial with an a value of 1 and use those factors to solve for $x$.

Social: I will demonstrate my work to the group as well as the class.
Language: I will write my factoring and solving process clearly for myself and others.

How can I multiply to get zero?

at least one has to be zero

Objectives:
Content: I will factor trinomial with an a value of 1 and use those factors to solve for $x$. Social: I will demonstrate my work to the group Language: I will writ process clearly for mys falling If and others.

So ... if $a * b=0$, what must be true?

$$
a=0 \quad \text { and } / \text { or } \quad b=0
$$

Zero product property

## So ... if $(x+3)(x-6)=0$ ?



$x=6$

## Objectives:

Content: I will factor trinomial with an a value of 1 and use those factors to solve for $x$.
Social: I will demonstrate my work to the group as well as the class.
Language: I will write my factoring and solving process clearly for myself and others.

## Try a couple


$\underbrace{(x-5)}(x+3)=0$
$x-5=0$


## Objectives:

Content: I will factor trinomial with an a value of 1 and use those factors to solve for $x$.
Social: I will demonstrate my work to the group as well as the class.
Language: I will write my factoring and solving process clearly for myself and others.

But, they don't all begin factored

$$
\begin{aligned}
& x^{2}+3 x-10==\begin{array}{c}
1,-10 \\
2,-5
\end{array} \\
& \mathbf{m}^{\mathbf{2}}+\mathbf{5 m}-\mathbf{8 4}=0 \\
& \begin{array}{l}
(x+5)(x-2)=0=0,-1 \\
\frac{5}{10},-1
\end{array} \\
& (m+12)(m-7)=0 \\
& \begin{array}{c}
m+12=0 \quad m-7=0 \\
m=-12)(m=7)
\end{array} \\
& \begin{array}{rr}
x+5=0 & x-2=0 \\
x=5 & x=2
\end{array} \\
& \mathbf{x}^{2}-10 \mathrm{x}+\mathbf{2 5}=\mathbf{0} \\
& \mathbf{y}^{2}+9 \mathrm{y}+\mathbf{2 0}=0 \\
& (x-5)(x-5)=0 \\
& (y+5)(y+4)=0 \\
& x \cdot 5=0 \quad x-5=0 \\
& x=5 \\
& y+5=0 \quad y+4=0
\end{aligned}
$$

Objectives:
of 1 and use those factors to solve for $x$ Social: I will demonstrate my work to the group as well as the class
Language: I will write my factoring and solving process clearly for

What if a term is missing? $\rightarrow x(x+3)=0$

$$
\begin{aligned}
& \begin{array}{cc}
x^{2}-25=0 \rightarrow & x^{2}-25=30 \\
\swarrow & +25 \\
x^{2}+0 x-25=0 & \sqrt{x^{2}}=25
\end{array} \\
& (x-5)(x+5)=0 \\
& x^{2}+3 x=0 \\
& \begin{array}{c}
x=0 \quad x+3=0 \\
x=-3
\end{array} \\
& x^{2}+3 x+0=0 \\
& (x+0)(x+3)=0 \\
& x-5=0 \quad x+5=0 \\
& x=5 \quad x=-5 \\
& x=5 \text { or }-5 \\
& x+0=0 \quad x+3=0 \\
& x=0 \quad x=-3
\end{aligned}
$$

total of 4 requires More Practice $\left.x^{2}-9\right\} 0$ all $=$

$$
\begin{aligned}
& +9 \\
& \sqrt{x^{2}}=\sqrt{9} \\
& x=3 \text { or } x \equiv 3
\end{aligned}
$$




